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Polynomials

1. Write any two quadratic polynomials

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QuXhgYn0iGHL

2. Write the degree of the given polynomials(i)

V3

o Watch Video Solution

3. Write the degree of the given

2

polynomials(ii)3m*n — m?n* + Tmn.

o Watch Video Solution



https://dl.doubtnut.com/l/_QuXhgYn0iGHL
https://dl.doubtnut.com/l/_tib6G2l6s2r7
https://dl.doubtnut.com/l/_5BKskxHMQKXQ

4.Subtract: 52> — 2z — 9 from Tz2 + 5z + 6.

o Watch Video Solution

5. Write the following polynomial in

coeffecient form z° — 3z -+ 5.

o Watch Video Solution

6. If the value of the polynomial m? — am + 7

for m=-1is 10,then find the value of a.



https://dl.doubtnut.com/l/_PunyfdwNetC8
https://dl.doubtnut.com/l/_Krp0Vf8VLy5L
https://dl.doubtnut.com/l/_7Ah8pxUo9osR

o Watch Video Solution

7. Divide (2+ Zazz)by(a: + 2) by synthetic

division and find remainder.

o Watch Video Solution

8 By using remainder theorem,find
remainder.When x5 — 2z% — 4z — 1 Is

divisible by x — 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_7Ah8pxUo9osR
https://dl.doubtnut.com/l/_UMWbAp7oaTlr
https://dl.doubtnut.com/l/_vTfLT6GA8K0J

1. (2,-1,0,5,6) is the coeffecient form of the

polynomial Write it in index form.

° Watch Video Solution

2.Add:y® — 3y? — 9, 3y° + Ty? — 2y + 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_vTfLT6GA8K0J
https://dl.doubtnut.com/l/_zBrWlXaZ9pu8
https://dl.doubtnut.com/l/_CprcTZKeMLrj
https://dl.doubtnut.com/l/_7LGxR1845FRm

3.1f p(z) = 22> — 2> + x + 2 then p(0).

° Watch Video Solution

4, If (x — 1) is the factor of the polynomial
(:n3 —22% + mx — 4) then find the value of

m.

° Watch Video Solution

5. Factorize: 622 — 5z — 6.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_7LGxR1845FRm
https://dl.doubtnut.com/l/_vhydIaWRDIIj
https://dl.doubtnut.com/l/_CDLWKpZm7QOE

6. Factorize:4z> — 36.

° Watch Video Solution

7.Multiply: (z° — 1) x (2 — z + 4).

° Watch Video Solution

8. Determine whether (z — 3) is a factor of

polynomial z* — 192 + 3.


https://dl.doubtnut.com/l/_CDLWKpZm7QOE
https://dl.doubtnut.com/l/_jcpec91CVXnC
https://dl.doubtnut.com/l/_DzzlfXuIWt9C
https://dl.doubtnut.com/l/_vMLsOqW9L8QZ

° Watch Video Solution



https://dl.doubtnut.com/l/_vMLsOqW9L8QZ

